
Year 3 Maths Activity Mat 1 Spring 2 1

Vicky has 5p coins only. She has 
20p. How many coins does she have?

 

a

Count on 20mm from 50mm.

 

c

e

Measure this line. How long is it 
in mm?

d Halve and halve again to divide 
by four.

40 ⇒ 
 
⇒ 

 

28 ⇒ 
 
⇒ 

 

f

b
4 3

+ 1 8

How many minutes make a 
quarter of an hour?

 

g

A playground is 34m wide. 
Its length is 19m more than its 
width. How long is the playground?

 

h
× 20 5
3
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Year 3 Maths Activity Mat 1 Spring 2 Answers 1

Vicky has 5p coins only. She has 
20p. How many coins does she have?

four coins

a

Count on 20mm from 50mm.

70mm

c

e

Measure this line. How long is it 
in mm?

40mm

d Halve and halve again to divide 
by four.

40 ⇒ 
 
⇒ 

 

28 ⇒ 
 
⇒ 

 

f

b
4 3

+ 1 8

6 1

1

How many minutes make a 
quarter of an hour?

15 minutes

g

A playground is 34m wide. 
Its length is 19m more than its 
width. How long is the playground?

53m

h

20

14

10

7

× 20 5
3 60 15

60+15 = 75
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Year 3 Maths Activity Mat 1 Spring 2 1

Amir has £2.40 in 10p coins. 
How many coins does he have?

 

a

Count on 7 litres from 312 litres.

 

c

e

Measure this line. How long is it 
in cm and mm?

d Double, double and double again 
to multiply each number by eight.

8 ⇒ 
 
⇒ 

 

13 ⇒ 
 
⇒ 

 

f

b
6 5 3

+ 1 4 6

How many minutes make one 
and a half hours?

 

g

A rock face is 240m high. Cathy 
has climbed 127m. How far does 
she still have to climb?

 

h
× 90 3
4
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Year 3 Maths Activity Mat 1 Spring 2 1

Amir has £2.40 in 10p coins. 
How many coins does he have?

24 coins

a

Count on 7 litres from 312 litres.

319 litres

c

e

Measure this line. How long is it 
in cm and mm?

3cm 8mm

d Double, double and double again 
to multiply each number by eight.

8 ⇒ 
 
⇒ 

 

13 ⇒ 
 
⇒ 

 

f

b
6 5 3

+ 1 4 6

7 9 9

How many minutes make one 
and a half hours?

90 minutes

g

A rock face is 240m high. Cathy 
has climbed 127m. How far does 
she still have to climb?

113m

h

16

26

32

52

× 90 3
4 360 12

360 + 12 = 372
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Year 3 Maths Activity Mat 1 Spring 2 1

Emma has seven 50p coins. 
How much money does she have 
altogether?

 

a

Count on 8km from 3615km.

 

c

Complete the calculation using a 
formal written method.

43 × 8

e

Draw a line that is 4.7cm long. d Work out the calculation below 
using doubling.

20 × 6 

 

 

20 × 12

 

 

f

b
6 8 4

+ 7 5 9

How many hours are 300 
minutes?

 

g

 A corridor is 52m 30cm long. 
29m 64cm of its length has been 
painted. How long is the part of the 
corridor that has not been painted?

 

h
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Year 3 Maths Activity Mat 1 Spring 2 Answers 1

Emma has seven 50p coins. 
How much money does she have 
altogether?

£3.50

a

Count on 8km from 3615km.

3623 km

c

Complete the calculation using a 
formal written method.

43 × 8

e

Draw a line that is 4.7cm long. d Work out the calculation below 
using doubling.

20 × 6 

120

20 × 12

240

f

b
How many hours are 300 
minutes?

five hours

g

 A corridor is 52m 30cm long. 
29m 64cm of its length has been 
painted. How long is the part of the 
corridor that has not been painted?

22m 66cm or 2266cm

h

× 40 3
8 320 24

320 + 24 = 344

6 8 4

+ 7 5 9

1 4 4 3

1 1 1
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Year 3 Maths Activity Mat 2 Spring 2 2

Write the next three measures in 
the sequence:

5m, 15m, 25m   

  

a

Work these out in your head.

36cm + 7cm = 

25cm + 50cm =

c

e

A sack of potatoes weighs 25kg. 
7kg of potatoes are eaten. How 
many kilograms are left?

 

d Measure the sides of the 
rectangle, and the work out the 
perimeter. 
 

f

Put a circle around the largest 
fraction in the pair:

b

Find: g

How much is ten 5 pence coins? 
 

h

1
5

1
3

1
10

1
4

1
4

of 20  

g

g

× 40 5
6
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Year 3 Maths Activity Mat 2 Spring 2 2

Write the next three measures in 
the sequence:

35m, 45m, 55m 

a

Work these out in your head.

36cm + 7cm = 43cm

25cm + 50cm = 75cm

c

e

A sack of potatoes weighs 25kg. 
7kg of potatoes are eaten. How 
many kilograms are left?

18kg

d Measure the sides of the 
rectangle, and the work out the 
perimeter. 
14cm

f

Put a circle around the largest 
fraction in the pair:

b

Find: g

How much is ten 5 pence coins? 
50p

h

1
5

1
3

1
10

1
4

1
4

of 20 = 5

g

g

× 40 5
6 240 30

240+30=270g

https://www.regentstudies.com


Year 3 Maths Activity Mat 2 Spring 2 2

Write the next five measures in 
the sequence:

280ml, 380ml, 480ml,   

  

a

Work these out in your head.

754m + 60m =

£851 - £8 =

c

e

A large packet of Wheaty Flakes 
holds 800g. A small packet holds 
500g. How many more grams  
does the large packet hold than  
the small packet?

 

d Measure the perimeter of  
the triangle.

 

f

Put a circle around the largest 
fraction in the pair:

b

Find: g

How much is forty £5 notes? 
 

h

7
12

11
12

7
10

1
8

7
12

of £16  

g

g

× 80 4
7
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Year 3 Maths Activity Mat 2 Spring 2 2

Write the next five measures in 
the sequence:

580ml, 680ml, 780ml, 880ml, 
980ml

a

Work these out in your head.

754m + 60m = 814m

£851 - £8 = £843

c

e

A large packet of Wheaty Flakes 
holds 800g. A small packet holds 
500g. How many more grams  
does the large packet hold than  
the small packet?

300g

d Measure the perimeter of  
the triangle.

12cm

f

Put a circle around the largest 
fraction in the pair:

b

Find: g

How much is forty £5 notes? 
£200

h

7
12

11
12

7
10

1
8

7
12

of £16 £2

g

g

× 80 4
7 560 28

560+28=588g
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Year 3 Maths Activity Mat 2 Spring 2 2

Write the next five measures in 
the sequence:

2423m, 2424m, 2425m,  

  

a

Work these out in your head.

 + 30g = 604g

 + 8 litres = 323 litres

 – 200g = 106g

c

The answer in kg and g is  

e

One litre of lemonade is poured 
into four glasses. How many 
millilitres of lemonade is in  
each glass?

 

d Draw a rectangle with a 
perimeter of 12cm.

f

Put a circle around the largest 
fraction in the pair:

b

Find: g

3 × 900 =  h

9
12

3
8

5
6

1
4

1
4

3
4

2
6

3
12

of £5  

 
of 200g  

g

g

× 60 3
9
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Year 3 Maths Activity Mat 2 Spring 2 Answers 2

Write the next five measures in 
the sequence:

2426m, 2427m, 2428m, 2429m, 
2430m

a

Work these out in your head.

 + 30g = 604g

 + 8 litres = 323 litres

 – 200g = 106g

c

e

One litre of lemonade is poured 
into four glasses. How many 
millilitres of lemonade is in  
each glass?

250ml

d Draw a rectangle with a 
perimeter of 12cm.

A correctly drawn rectangle with a 
perimeter of 12cm.

f

Put a circle around the largest 
fraction in the pair:

b

Find: g

3 × 900 = 2700 h

9
12

3
8

5
6

1
4

1
4

3
4

2
6

3
12

of £5 = £1.25

 
of 200g = 150g

574g

306g

315 litres

g

g

× 60 3
9 540 27

540+27=567g and 0.567kg
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Some children were asked what 
their favourite fruit was.

Which is the most popular fruit?
 
Which is the least popular fruit?
 

g

bananas grapes apples pears
0

1

2

3

4

5

Year 3 Maths Activity Mat 4 Spring 2 4

What is the value of the 
underlined numbers?

27  → 

120  →  

a

Cassie is seven.

Her sister is double her age. How 
old is her sister?

 

c

I am thinking of a number.

I double it.

I add three.

My answer is 23.

What number was I thinking of?

 

e

If it is 8.55, how many minutes 
is it until 9.00?

 

d

2 × 11 =

20 ÷ 2 =

4 × 2 =

12 ÷ 2 =

b

Put a cross where there are right 
angles in this shape:

hBob had 50p. He spends 20p.
How much money does he  
have left?

 

f
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Some children were asked what 
their favourite fruit was.

Which is the most popular fruit?
Apples

Which is the least popular fruit?
Pears

g

bananas grapes apples pears
0

1

2

3

4

5

Year 3 Maths Activity Mat 4 Spring 2 4

What is the value of the 
underlined numbers?

27  → 

120  →  

a

Cassie is seven.

Her sister is double her age. How 
old is her sister?

Her sister is 14 years old.

c

I am thinking of a number.

I double it.

I add three.

My answer is 23.

What number was I thinking of?

ten

e

If it is 8.55, how many minutes 
is it until 9.00?

five minutes

d

2 × 11 = 22

20 ÷ 2 = 10

4 × 2 = 8

12 ÷ 2 = 6

b

Put a cross where there are right 
angles in this shape:

hBob had 50p. He spends 20p.
How much money does he  
have left?

30p

f

seven ones

one hundred

x

xx

x
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Year 3 Maths Activity Mat 4 Spring 2 4

What is the value of the 
underlined numbers?

291  → 

442  →  

888  →  

a

Josh is 22.

His dog, Patch, is half that age.

How old is Patch?

 

c

I am thinking of a number.

I multiply it by five.

I add five.

My answer is 20.

What number was I thinking of?

 

e

It is 12.45.

How many minutes is it until 1.15? 

 

d

Insert the missing operations.

3          10 = 30

16        2 = 8

25        5 = 5

12        2 = 24

b

Some children were asked what 
their favourite fruit was.

How many more people prefer 
bananas to grapes?
 
How many people chose pears or grapes?
 

g

Put a cross where there are right 
angles in this shape:

hHannah has £2. She spends £1.50.
How much does she have left?

 

f

bananas grapes apples pears
0

2

4

6

8

10

https://www.regentstudies.com


Some children were asked what 
their favourite fruit was.

How many more people prefer 
bananas to grapes?
Two people

How many people chose pears or grapes?
Six people

g

bananas grapes apples pears
0

2

4

6

8

10

Year 3 Maths Activity Mat 4 Spring 2 Answers 4

What is the value of the 
underlined numbers?

291  → 

442  →  

888  →  

a

Josh is 22.

His dog, Patch, is half that age.

How old is Patch?

Patch is 11 years old.

c

I am thinking of a number.

I multiply it by five.

I add five.

My answer is 20.

What number was I thinking of?

three

e

It is 12.45.

How many minutes is it until 1.15? 

30 minutes

d

Insert the missing operations.

3          10 = 30

16        2 = 8

25        5 = 5

12        2 = 24

b

Put a cross where there are right 
angles in this shape:

hHannah has £2. She spends £1.50.
How much does she have left?

50p 

f

nine tens

×

×

÷

÷

four hundreds

eight ones

x
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Year 3 Maths Activity Mat 4 Spring 2 4

What is the value of the 
underlined numbers?

3199  → 

2018  →  

2222  →  

a

Jack is ten. His Dad is three 
times Jack’s age. How old is Dad? 

 

c

I am thinking of a number. 

I half it.

I add ten.

I divide it by two.

My answer is 20. What number was 
I thinking of? 

 

e

It is 3.22.

How many minutes is it until 4.00?

 

d

Use the following numbers to 
write four number statements 
using × and ÷. 35, 5 and 7.

 

 

 

 

b

Some children were asked what 
their favourite fruit was.

Which is the most popular fruit?
 
What is the difference between the 
most and least popular fruit?
 

g

Draw a shape with at least two 
right angles.

hJim has £5.
He buys a drink for 35p and a 
bag of crisps for 28p. How much 
money does he have left?

 

f

bananas grapes apples pears
0

2

4

6

8

https://www.regentstudies.com


Year 3 Maths Activity Mat 4 Spring 2 Answers 4

What is the value of the 
underlined numbers?

3199  → 

2018  →  

2222  →  

a

Jack is ten. His Dad is three 
times Jack’s age. How old is Dad? 

Dad is 30 years old.

c

I am thinking of a number. 

I half it.

I add ten.

I divide it by two.

My answer is 20. What number was 
I thinking of? 

60

e

It is 3.22.

How many minutes is it until 4.00?

38 minutes

d

Use the following numbers to 
write four number statements 
using × and ÷. 35, 5 and 7.

5 × 7 = 35

7 × 5 = 35

35 ÷ 5 = 7

35 ÷ 7 = 5

b

Some children were asked what 
their favourite fruit was.

Which is the most popular fruit?
Grapes
What is the difference between the 
most and least popular fruit?
Six

g

Draw a shape with at least two 
right angles.

There will be a correctly drawn 
shape which has at least two right 
angles.

hJim has £5.
He buys a drink for 35p and a 
bag of crisps for 28p. How much 
money does he have left?

£4.37

f

bananas grapes apples pears
0

2

4

6

8three thousand

zero hundreds

two tens
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